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way of achieving ‘inclusive growth’
dide some of the following aspects -

up  shortterm  measures  only
: Creguired

Lo Around gender equality

€. Alround development of SCs, STs and other

WEINGT sactions

on

Davelopment of social infrastruciure
Ca@E HHBI IGodarls 8o 8IS D
WUTLTD iﬁd)‘-g'"‘a“@ ? ’
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(1) ‘,b&COnIyﬁwLéﬁ {2) b, c&donlyfar@d
(3) b&conly/Ed (4) c&d only/&r#$d

in terms of urban population, which of the
following states have occupied the top three
20sitions 7
o Uttar Pradesh
v d. Tamil Nadu
¢b‘-‘ag°§:}‘boa}oao{3’s & "‘“"ﬁjm&, el
9

50 Maharashira

[ aeile fg"; b CéOE)&E
Spods d =S¥
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(4] wodb 2y Heles

Census data from 1901 to 1991 show that -

{1} There has been a steady decline in the
female-male ratio

{24} Thereis no particular trend

(3] There has been a steady rise in female-male

ratio
(4) There have been fluctuations in female-
male ratio

1901 w001 1991 HBH WO Serodo 80 areS*

o

sl e --“}(uoﬁ- ?

(1) &9 -inchi Q)8 (Fwon~ Shod.
(2] =% o‘é;z &°%8e8 oty Seh.,

(3) &9 - D B (Eorr WBAs.
(4) &9 -0 TBS® Aihih Brbches.

According to 2011 Census, growth in population
in the mega cities has :

{1) remained unchanged (2) boomed

(3) slowed down (4) picked up

2011 VHO D5t @dmbded® sarer 98

Qone ardy 30808 ?

(1) Seddmr God (2) KDMQ@%JQ 2Bhod
(3) &hod (4) 28A0B

India is regarded as a country with ‘demographic
dividend’ because of its high proportion of

(1) Population in the age group above 65 years
(2) Female population in total population

(3) Population in the-age group below 15 years
{4) Population in the age group of 15-64 years
83T marer Dowodd 82Bo& Dforr

8D, Joth ?
(1) 65 ¢ pawad HAPley He warer @bl
v prdost oddo.

(2] W&o 2arers® 19 aoyr ©hE ot
aoddo

(3] 15 I Dabilny e earer ©o¥ TS0

(4) 1564 OF Dy Hablny Ko w08
Tdo<” soddo.
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10.

According to the approach gape
Plan, the fowns that ars packws
beern abiz 10 parutipal :

30, Mmainiy 02Cause ﬂ_i’ :

{11 lack of motivation

R

2} lack of people in the working age

3; lack of population

— e

4} lack of infrastructure facility

uﬁlor:éo:- Qe s & gé;)é vido @rsedo Sw3udd
uéaruu uma@c, a.gﬁc.» w0 528, Joch® ?

(1) L;'J‘av;),svo [ Fvpete)
(2) OREL By Ko Lues Xpane EEDdo
(3) e S€3%d0

(4) soFre FrEorgen SETDEC

As time progresses, the demand for water from
non-irrigation sectors like domestic sector,
energy sector, industrial sector

(1} s likely to increase marginally

(2} s likely to decrease marginally

(3) is likely to decrease substantially

(4} is likely to increase substantially

suo HEDS §“c§ dysr Gotfo, JB§ otfo,
SB[ Solfo Dot WAgSY Sorre WD ot
&hro& o dSome Gob ?

(1) 2% 0B w0A wHs Ho G ob.
(2) of 0B S8 wds i Go8.
(3) wror 40 wds io 60B.

(4) oror 0OA whseFo God.

Data shows that in 1951 the people living in
urban areas in India roughly was :

(1} One out of every five persons
(2) One out of every six persons
(3) One out of every three persons
(4) One out of every four persons
1951 &* rdsdsod®
e J sdSod® s ?

(1) D8 2&bdd 165_@06" .58

(2) (08 esidd és_ef.‘aocﬂ* 2.8%

(3) (©@ awihdh HgHoc® 288

(4) B beothh Hodt 286 /
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armant fatween a firm and
fzrmer to prodlce an angact agricultural
(o Cooperative farmimg
Contract farming
C‘E?;—, Gy 57
uéa ‘5’1:65" 2287

Y ‘ébfgé\e, wa‘-“n’.n“w Shoend 7
{1} ”&J‘c‘als“i‘fu wenardbo (20 Ukl bsé&’c-fao
(3) arddeg og‘é:?o‘.ﬁo {4)

a::bgocﬁc ésgm‘-:ﬁ:o

The recent audit report of, the Comptroller and

Auditor General {CAG) of India has pointed out

various irregularities {as per LAAR). Which of the

following are correct ?

a. Allotment of land

b. Utilisation of land _

¢. Resettlement of affected people
acquisition of land

after

d. Compensation as well as rehabilitation of =

the affected people
g8 Sy Dowobol erdE goPlyed &
sEHE =08S (CAG) adhe «ad 368" 80
TES® BE8 Vowosod e w|Sre 20berd 7

a.  frEerovolyes

b, 2frddaKo

C DhESm by @Lerdsdt pry VEdDod
d.  [Perdd [hee SHOODE0, YOot00

(1} a, c&donlyﬁarLé&(E) ab,c&d
(3) a&bonly/arBd (4) a, b & conly/ar 8

Consider the following pairs :

Five Year Major Objective
Plan
a. Xl i. Development of Large Scale
Industries
b. Vil ii. Poverty eradication
c. V iit. Inclusive growth
d. It iv. Human Resource Development

Match the above correctly :
208 mdui flotad :

a. Xl i a0 DOt DD
b. Vil i, DS0E Jdmen

c. V iii. :i;:):g@é fbgg

d. Hl v, wrd Doty @é_)‘é‘:t}@

W BOVS B VB =d3abod.

(1) a-iv, bii, c-i, =i (2)
(3) a-ii, beiii, ¢, d-iv - (4)

a-i, b-ii, c-iv, d-iii
a-iii, b-iv, c-ii, d-i
203
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4] $g8 Lo Srglel Dotrasrws LETedbd.

a

Reservoirs and tanks suffer from siltation and
this effects '

(1} Afforestation of catchment area of rivers

(2}
(2) Landin hilly areas

The oceans

14} Uncultivable waste lands

werdaires, D6 Prés DY Joddtdaryon.
8ISy (berdko e GdgD Javes ?
(1) Sueosird b (Froered®
(2) hwiores

(3) ®od @bowufﬁ%&)b ENALINY
(4) ibbodo/dgosed, DAEED 2brd

wdD)e JuE

in terms of land area, India's rank in the world is :
255 :‘D"ggo Sy [@RoSod® orEsdd Fdo
ot ?

(1) sixth/6% (2)
(3) fourth/4% (4) . fifth/5&

seventh/7 &

Acquisition and requisition of property falls in
the :

{1)] Concurrent List 12} Private List

{3} Central List {4} State List

se UEGe, ¢8F LrogE erev 8 DESm So8

oS O arfier 2068 Seow ?
(1) efp@ede  (2) wdS=Ler
(3) S0 wrdes (4) oy erBen

‘5
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ana unint errupted use of water.
2 ,ﬁuo:r and pasture  development
i hilly ar=as.

ghrrdo 2&iHoe:

s
PN L ST

@ ENsroviio.

Buw Sy

(2} ebrindD S8 ards

3y A asdon,
DRI IDEEC.

A Brod Lﬁ":‘)c‘.ﬁ"’é:: eird) D, EUSREIRS SR
@G LS wives,

Aftorastation is essential for

{1} Improvement of fallow land

{2) !mprovement of barren land

{3) Moderating il effects of
avoidance of erosion of land

{4} Industrial progress

wow (Frod Tl wiigsd Jog

(1) 0dabd el BSHHLESEo

{2) aomd a,‘j)h‘émm odnyb

(3} 2&e B Lararud Shoddo, s
Jardordy edio

{4) orbnd D08

floods and

One very serious defect of the National poiicy Tor
rehabilitation is that it covers only :
Direct displacement
Displacement of people who are from tribal
region
Displacement of landless labour

I1d1r°ct d|sp[acnmont

(1)
(2)
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The New indust
india in 1921 sug

(1) Compuiso

gthening

{2} Streng
{3] Abolition of indust
{4) Increasing the role
1991 &° esémﬁa:,'
a.n...i 3 Te) Q:.;IQ ?\;J’dr* el
(1) &rosag L0y £
(2) ualééé‘ ORI DI

(3) HE QB_?\JS\}O.*%@ é-qi_-_- 3imE,

(4) ([2ebde Sof S wowL.

Any land acqulsmon law must essantially ensure :

(1) That local bodies have nothing to do with
the formulation of iaw  and its
implementation

(2} Welfare of farmers and other stake holders
on one hand and strategic development
needs of the country on the other hand

(3) The commercial interest of the investors
and the government

(4) Development of industr.as,
be the consequences

Q FrESem SHD® 308 FEST S0 DN

seared 7

(1) & Sgre $apeds® md, wheos® T8
“oge 38 OB Gosd.

(2) ‘i)g‘é@“cﬁac"éab, 28d abEire VoW
2.53%); ﬂv"@‘o‘agg
5 5 .

(3) ebds Dadrudrut, Wirad SoaeD aredeg
PoFrETruw STrEed.

(4) m&@ww{m LodE o DBty BB
s*araed.

The 'National Water Policy’ adopted in April 2002
provides a framework for taking care of some of

o

whatever may

T oAt @5‘6‘5@
a._

- the following :

a. The quantity & quality aspects of water

b. Water outsourcing and development of tube wells
c. Water development and management

d. Environmental aspects of water

2002 QRS uIPBOT BRIOTN e Bad 3:?
dorde 8od o’ ac&’l, &ya SrGowod ?

3. 288 Vowohold LEIrro, g voTe.
b 38 STy, Ty wvde w8D)0.

C O 0DN)B, JWgare.

d. D38 VowohoId Loghde oL,

(1) c,d&a {2} d,a&b
(3) a,b&e¢ {4} b,c&d !
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1 zlobalization in
peimentin

CEEodn svan

Slanned & Jvzi (e County

(3} forward states muzn mare than in backward

srates

{4y Dackward ch mora than in forward
states

L30480, Do ids
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Do Saran 7

e
gy we e

{TraDED

o
.)OEB Iy

o) ey wbrron
&5 t—so"\

L.]JEJCuCM PloTrTens

(1) bgm Froete (Froerec’

e J

40 t‘moavu‘}s 28 Lredm

S
gl QL &_

2) Se%ds Trarie £08 ©DD)B S eTars]

U"g‘juﬁ‘ Lt DO
(4) o@D)a DodS oo £08 JEwdd
chg“joé""‘ Depaaies DO,

The concept of multi-dimensional poverty Index
was introduced as a new measure of poverty in
the year :

2dmoEe 'ExSBé 0¥ W DEBSTY) 03 o8

5 eSham ‘aoée_géoo (2554 VY ?
(1) 2010 (2) 2014
(3} 2008 {4) 2009

If people of one country invest heavily in another
country and earn massive profits :

(1) This cannot be taken as
development in the home country

economic

(2} Outcome cannot be assessed

(3) This can be considered as economic
. development in the home country

{4) This has nothing to do with economic
development in the home country

2% 3% (e 2088 &%0d® whZom wiwad WY

]
'\l“)

Db wrares 3 &'

(1) &22 i,bd ot JVS“E 1&rr" 28530807,
(2) o83 woda Sabiic

(3} BILgEFS® SNl LBKSoTDWY. -

(4) 628 e @gs‘a‘éa;g? w0l Lowodo
& 0k,
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(2) ﬁﬁ‘gfﬁu, &5‘5:‘9@5)%@ aiﬁb Do°eee, 0

The smater w
investment :
{4t The farger wili be the surplus avaitable for
inwvestment
8 G4 soreardt |

——
(V]

it oe the su IR HEER:

TBSGLE L

= a

e webdorr Gocz 508 IRl sdu ?

{1 ?..:r_.ama,r&é e déu‘o aoibed Lu 20T S8 i

(2] Sweds eREU0 e e dlne Goda wgc.

tvad Iobaod ODVEDY Drbes weone
rf;o@ el vo. '

(4] Dipad Sabals bes wfdorr ob ol v,

Social assistance schemes seek to provide

assistance to the poor and needy. They are :

{1) financed through contribuiion by employes,

employer and the state

financed through contribution by employee

and employer i

{3) linked to the contributions made by the persons |

4) financed from the generzl revenue of the !
government

DSar08, oSLSWE) o708 FhrRE WiHahE

wdstes 5‘&3&6"0& ®d '

(1) &&gthes, c;&ssm@a’)é)m, ovpo. Ay

Qoryre Douofo R

(3) 2

(2

Wo050Vn.

(3} ﬁg_ébac.u RWP 0L VOOB 0TI,

(4) (Debdg drordes SSarg Wwod AR,

The liberalization phase in our country indicates that :

(1) Well worked strategies exist to ensure that
we benefit from the young population bulge

(2) Government has been ignorant that there is
a young population bulge that exists.

(3) We are not able to take advantage of the
young population buige

(4) We are able to take advantage of the young

population bulge
&b BoSt VEDESH &% rDoDodes 7

(1) cbddD S of Fodards vy
Brgtes aama.
(2) S%0S" abdds ©
$803EL.

(3) zorwre® He
o5 S,

(4) worere® Ao ©OY HIET

SEome CcR.,‘\;Lé_J,J Lcu.}a}.‘r\.—\ ]

whHE wso wbne

oo b

I 0.

34,

i3 .11?=<'3'L-_;7.°5;>§ Sod 33065 {4} Deddrah don EONa
teonomic development implies

{1) Technological changes only

{2y Quantitative and qualitative changes

{37 Quantitative changes only

4} Dualitative changes only

w08 vl wgu 3 leDods e

t‘l} 88X apdnes héﬁa

(2} ojﬁm"ﬁﬂe..%ﬁ .’%c“i“é"é "d;‘\..-.)

CSJ‘J@J a)J“‘@c:jJ

i3} ',J('B-m-caﬂ a3 d £y

Y Fopasdd
Lok &

iothe growth of working age population is
greater than the growth rate of child popuiation
in a country, it will lead to :

(1} Low dependency ratio

12} Norn-dependency ratio

(3} Higher dependency ratio

{4} Intermediate dependency ratio

o8 405" BD avyr ) St Sod HITV

DAy do zorwe D)8 dew wd8om ¢oB ol
- 88 070 8ob ?

T

(1) voywedd TNS (2) osrardd Jind

(3) ©8% ver8d JNS (4) ‘o‘mc‘,Ss‘g wer0d NS

One of the most challenging issue that Indig is

facing at present from among the foliowing :

{1) How to increase employment in
agriculture sector ?

(2) How to strengthen the public sector ?

(3) How to compete with the most efficient
countries in the world ?

{4) How to provide food security and basic
amenities to a large section of society ?

800 a8 (Ddo wrdsdio DB oDy

wdgod [LEPRPD DI Javes ?

g ab oo ¢PeL J Lo wowd: ?

the

S

()3
e 60.7*&4\ Dem wsthdo Scaied ?

2) @
{ 53 . mdwoe.;?n?b Ered Joo

3] L:.J" oPosss
{4} LErzoctD w@é DoreH st PSS,

288 STHE 3‘"§m5a:§> oJer® §£)ﬁo~::)‘fé'} ?
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w CesadTEPEG CheE

1) a&conly/imdd (2] b & doniy/fardsd

¢ Rod only/am &

#CONoMIC growth ray

sion that maoves an

anderdeveloped country from a naar subsistencatoa:

(1) substantiaily higher sevel of living without
reference Lo lime

substantialy higher level of [iving compared

£t our neighbouring countries

(3] substantially higher ievel of living in the lorg run

(4] substantialty highor javal of diving in the
shortest period

St tave B3y w5 D O S 3B

S s Hotadd Gy BN erdo Sol 9

rowd f{f&‘fm§_%jao&:’ Beipdbol, e e o8 7

(3] a & Dbonyfmds (4

For underdeveloped count:
e odefined Az 2 raie of

Pt

(1) seeo& Foyhoce i‘.’ii}y%’scﬁ{j whHE 855
@IRsera ?u“}‘m,s é?’msiﬁéo,
FI dro® FEL G0 ) e
(2) & 2o Srod FEY ILPSE wh¥
et (eren :S:om“-‘, Q?’méi,‘fc‘ﬁo, _
Vomre,oft I0wERES wsf 825 Do
(3) &% 7 IDpEEN wgs S [bh
Frons BwsHde.
(4) KJSQQ g ot a:;;[yf-:;"'cﬁg whE #25% ke

Srond BlvESGo.
P g

Which of the following are the main areas of
Naticnal Forest Policy, 1988 ?

a. Protection of forests only

b.  Exploitation of forests only

t. Development of forests only

d  Conservation of forests only

am@iah whd Dotho, 1988 S0 BT wommed

(808 aE%) DO T

a. wdmo Lolis iukuh

h, wiHed elabRolEhdo ‘ésmé&i:-

¢ wdhe eLh8 trdd

¢, wdpe g.:)"oacémz“ EeLR R

(1) o d&aonly {2} d,a&bonly
3] 3, b&conly {4y b, c&donly

Series-CD l
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40.

tuwithout impacting

= taken focusing the

oL o

growth
Sad
{1
{21 s e e
=@
(3) o BEsEE
(4] Blushdo.

Which of the following are the major objectives

of sustainable develonrient 7

7. Gomg for highly mechanised methods of
preductiun

b. Protecting bio-diversity and balancing ecology
for long-tarm development

c. Offering amounts
industrial development

d. Enhancing standard of living of BPL families
and achieving inclusive growth

208 TS LY wPLYB eV vFrgee 2D 7

a. b o’mo@édmﬁ‘;ﬁgﬁm oo G N iSbdo.

b &¢sre o8 §%e &h g Sfoddo,

il o LH

wbin vode din rHoddo.

¢ BTDE DLyl 00 088 eroudt
AN angio,

d. By S o8 oy Hinowry 22ob e
.2“‘01:3 Boddo, VP 083 Ioodso.

{1} a&conly/omdd (2) b&d onty/f&r S

(3} a&bonly/arEd (4) c&donly/ar@d

of subsidies for

large

As per UNDP Report-2015, in India the highest
ranking state in Human Development Index is

i1} ¥erala {2j Karnataka

i3} Maharasntra 14y Punjab

UNDP I368 2015 hsmdo ardddiod’ wdghs
i::“tb&)’é’..}i}g@ JDSOS’J ) 0790 D67

(1) 2o« (2} Sgre¥ |

(3} ‘éxésméj (4) Dozrd
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203

ignores asgects related o

3
hat the afforestation

is nOT & very

concern Tor india,
{3y It agpraciates the implementation of rhe
' affzrestation schemes.
(b 1t dentifies some deficienciss of the

affrrestation schemes.
Lodnd L 94% Lonofol &0l

HY

(2) 2rE88%0C" v |rod DoH o8 wod
TR wodo 28 8% (L P 88208,

(3) wo) ([Fod DOw DS wheod 8
e 98 [DF o0 Dog.

(4) vod | od e Dot £ v
82 e 9 I8 rdod.

Often afforestation programmes were not so
successful because of mainly one of the following :
{1} Poor quality of water

{2} Poor guality of seeds

(3} Poor quality of soil

{4) Poor quality of air

obd (Prod IS DEstw wodm Ty eres
FRETDGER8 Bod FESt 8 (B 5780 ?

(1) Sase® Sreagd SThodgo

(2) Do’ Tregd StLotdo

(3) FBhodID Jv s EIgo

(4) OSF sregd oSG

In order to restore ecological balance, one of the

most important solutions from among the

following is

(1) Bring barren land under agricultural use

(2} Bring barren land under industrial use

(3) Reforesting and extension of forest area

(4} Extensive use of available water

sDde Lodoard) oy D88 EHardS wdgod

@ETRES WO 8 wrdo (308 8S®) 28 ?

{1} woz& Zrawe a’::g‘é)é‘oﬁa
sdroom éréaéo. ‘

(2} 2ozd rana JOFrDE LTS ordko.

(3) odhed PuFbosdo, wod (Fosvdy
JnBoiido. '

(4) oohared® &) M0 Hydorr W@ NoSEo.

?Jo“’gbg

45,

46.

47.

(1) Cultural category  {2)
- {3) Provisioning category (4)

irends in existing level of food grain productivicy
i india indicates that they are

- Hot enough to take care of the future near
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The loss through water erosion cannot be under-
estimated. The irrigation potential is decreasing
mainly because of one of the following :

{1) Soil erosion {2} Soil conservation
(3) Siltation (4) Floods
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in India, intensity of land erosion has ;

(1) hasremained at a low leve!

(2} hasremained constant

(3) reduced

(4} increased
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Material resources like minerals, timber, fish,

wiater belong to one of the following :

Amenity category

Regulation category
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Deveicpment goals may oe defined in terms of
progressive reduction ond eveniuai elimination

of some of the foilowing
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c. Malnutrition. diseases,
d. agriculture, employment. literacy
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Consider the following statements :

a. Capital output ratio indicates the number of
units of capital required to produce one unit
of output.

b. Capital output ratio refers to productivity of
capital of different sectors at a definite
point of time.

c. Along with national savings ratio, capital
output ratio can determine the growth rate
of national income.

d. The GNP growth rate is proportionately
related to capital output ratio.

Which of the above statements are correct ?
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Which of the following are related to 'Hindu rate
of growth’

a. Agricultural growth rate

b. GDP growth rate

c. Average annual growth rate of about 3.5%
d. Gross capital formation growth rate
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Hurmzn Oevelooment  Index s czicuiated
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Arnong the following, which are the major causes
of underdevelopment ? '

i. Poor per capita income

ii. Capital deficiency

ii. Underutilized man power and natural
resources

iv. Traditionai technigues of production

{1) i, fiand iv

(2} i, iii and iv only

{3) iiiandionly

(4) i, iiandivonly
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Amartya Sen received Nobel prize in economics
for his contribution to the

{1) indian Economy

(2) Industrial Economics

(3) Internafionai Economics

(4} Welfare Economics
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in developing countries, if the income level is
low, the propensity to consume will be high and
as a consequence, capital formation wit he

(1) (2)
(3} veryhigh {4} marginally high
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Among the following, which one is an essential
characteristic of mixed economy ?

(1)
(2)

Co-existence of urban and semi-urban areas

Co-existence of public sector and private
sector

(3)

Co-existence of capital goods and consumer
goods

Co-existence of labour and capital intensive
techniques
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H savings ratio is divided by the capital output
ratio, we derive

{1] Population growth rate |

{2) Disposable income growth rate

{3} GNP growth rate

{4) Percapilaincome growth rate
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The unemployment in underdeveloped countries
is mostly one of the following :

{1} Openunemployment

{2} Educated unemployment

3 Urban unemployment

{4} Disguised unemployment
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The nationzl income i india 15 calculated matnly
through which methods ?
a. Income method o, Cuiput method
<. Expenditure method d Exch:mge methaod
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Consiger the foliowing pairs
& Calendar year — January to December
B, Financial year — April to March

€. Kharif season - October to September

d.  Acadernic year — June to May

Which of the above pairs are correctly matched ?
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Which among the following are relevant to national

income ?

a. Adding all transfer payments

h.  Adding alt values of goods and services produced

¢ Adding all payments made to all factors of
production

d.  Adding all incomes generated
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According to Ragnor Nurkse, most of the

underdeveloped countries have been caught in the -
(1} Productive investment .

{2) Export of secondary sector products

(3) Vicious circle of poverty

{(4) Excessive demand
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The share of secondary sector in the GDP during
the period 1999-2000 to 2013-2014 has shown :
(1) Marginal decrease {2)° Higher decrease

{3} . Higherincrease (4) Marginal increase
1999-2000 %od 2013-2014 &5% e scwod? mo
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NNP for the current year x
Base year price index
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Current year price index
{1) Real netnational product (2) Real disposable income
(3) Per capita income {4) Gross national product
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gy deducting growth rate of popula
growth rate of national income, we Gerive
} Growth rate of disposabie income
{2) Growth rate of NNF
Growth rate of per zapita income
{4) Grewth rate of realincame
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Tne personal inceme which is leit with the inuivicual
after payment of all direct taxes is called as :

{1} Realincome {2} National income

3} Disposable income {4) Per capita income
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Among the following five year plans, the highest
annual average growth rate of per capita income
at 1999-2000 prices was achieved during the :

(1) Seventh Plan {2) Ninth Plan

{3) Eleventh Pian {(4) Eighth Plan
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Among the following organizations, which one
estimates the national income in independent India ?

(1} Finance Commission
(2) Centrai Statistical Organisation
{3} NITI Aayog
- {4) Planning Commission
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76. The people with lower incomes when compared
with higher incomes, even when their standard

of living is above subsistence level, are said 10 be

in:

{1} Rural poverty {2} #ass poverty

(3} apsalule poverty  {4)  Relative poverty
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When a country enters a recession, many jobs
are lost. This situation is cailed :

{1} Seasonal unempioyment

2} Disguised unemployment
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Poverty line in rural India is defined as the mid-
point of monthly per capita expenditure class
having a daily calorie intake of :

{1} 2,200 calorie per person
{2) 2,100 calorie per person
13
(4) 2,300 calorie per person
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if a personis willing and searching for work but
due to unavailability of work remained
unemployed during the major part of the
previous year, he is called unemployed as per :

(1) Usual status {2) Standard status
{3) Weekly status (4} Daily status
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Among the foliowing, which ~ia -
percentage of poor inindia 7
(1) Madhya Pradesn 2] Odioo

Consider the foliowing
Plan Soriad

oairs .

a. Second Five Year Plain  — 18
b. Third Five Year Plan - 156z
¢. Fourth Five Year Plan - 18772
d. First Five Year Plan — -1956
Which of the pairs given above are correctly maiched ?
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a. Go&n é)oé‘é:g_ Per&s - 1956-1961
b. hw-thh DowhY Der @8~ 1961-1960
c. a‘e{.\:ﬁa '-.':Joiﬁfog [oer ¥~ 1966-1971
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When workers have jobs, but they are not
working to their full capacity or skill ievel, it is
called as (one of the following)

(1) Seasonal unemployment

(2) Classical unemployment

{3) Under-employment

(4) Open unemployment
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A situation where in all the availabie lzbourers,
who are willing and capable, find work at the
current wage rate is called {from among the
following) :

(1) Fultemployment (2) Nonemployment
(3) Self employment (4) Re emp!o“*r.ent
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{1} Inclusive growth and improving standard of
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ey region as surpius

/70 $eo  weedo  Swones  Rgbemgud

L =

J\.'m-'\w ..ak‘:- -% é a"\ﬁ 8 “‘ rJB‘c\)& ?

(1] A0wde ol Nowuldsded g
L oo et m.,o (ﬁe:w;:ia 57¢%)

(2} JD2.ed aiw udaaﬂaom aJc*SUonof:’sc.Jw
wGoeas funassigned .(.ne} 2o awote .

(3) 5 Bored Dodb b rlnd  otbes
el 8K

{4) 50 Zorw ‘l_n":\.om ‘&J‘;S“n‘ui‘;”oﬁ 2hesdd) Sbthes

ZimSor DU,

A planning in which targets ara set for a period
of 15 to 20 or 25 years and which ensures
continuity in planning is called as :

(1}
(2)
(3)
(4)
15 Dol 20 Eov 25 Dondyore ste VOLBS”
FeBoSHUVR t;E"Sbn‘» 360»06:&:3 @w’@éo
E"5drAody (continuity) Csoc‘ﬁt‘.)g:o D (e PED
oot ?

(1) o68)s L@

(3) So|bg)8 L 9%

Authoritation planning
Perspective planning
Centralised planning
Democratic planning

(2) OGSOy e 98
(4) (o daidE {8

Economic  planning was an  essential
characteristic of one of the following economies :

{1) Socialist economy (2)
(3) Closed economy  (4) Mixed economy
36s oSt \aaé Lo D858 vfmon o SRS
“bga%.} .’igoaacéo ob ?

(1) .-“}"bga?d csgé bg‘é)éj

(2) 'b%»aa&mé c—sgé bedl

(3) LB (5°55) ¥ DDy
(4} Dy ésgé zbgia".g

Capitalist economy

17

L

W

106.

101.

102.

(1) wdererd

{4)
1808 8T D Beorrn erwses’

The chairman of thP a\r:sr‘na Water D:spv o5
Tribunal-ilis

{1) Jagdish Bhagawathi (2} S.P. Srivastava

{3) R.S. Bachavat {4) Brijesh Kumar

A3 o Srree (¢Gesgod (Godhl) DS Kb ?

(1) =héhsths (2} D0 R
(3) wb.O0. worké  (4) (DEQ HrE

".'o (ro)

Which of the following districts in Telangana region is
the poorest in 2013-14 {SRE} in terms of per capita
income at 2011-12 prices as per 'Socio-£conomic
Outlook 2016’ (Government of Telangana) ?

{1) Adilabad (2) Warangai
(3) Medak (4) Mahabubnazm
Boormres  Jraweeds @Q% Dtéo 2016 (coorro
(2580) (W50 2011-12 &ed’ S0 worabo
sordorr 2013-14 (Bodd Paeodares) &
@rodod® BoB " 8 WSS 2 07
(2) Hond
(4)  SoirereSoid

Jurala Irrigation Scheme Stage-l was meant for
scarcity area in which taluks of Telangana ?

(1} Alampur, Sangareddy, Wanaparthy

(2) Medak, Gadwal & Alampur

(3) Gadwal, Alampur & Wanaparthy
Wanaparthy, Sircilla & Gadwial

SO,

(3) 38 -

20088
Eosh B5ERE wrore IS Ko (3E - W
agRowed ? '

{1}
(2)
13)
{4)

oS, uJorﬂcfic‘.'a D0
DSE. r‘ic:r'sc;‘ seourd
Horgd, swoird, B8,
B0, DOV, dorgd
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103.

104.

105.

106.

107.

(1)
{3)

cawbol o {H addid

awbabb

The perceniage share o Giasource of

irrigation in Telangan.: re; croased from
.zeroin 1956-57 to s i 200112,

deomrn @wrodod’ Do Dnhudt Fol

ey aree 1956-57 &7 rbgo s 201112 O

oD @l Jod Frernd Lihol T _

(1) 33 (1 26 27 43 {4y 49

The percentage share of tanks as a source of
irrigation in Telangana regicn in 2014-15 as per
‘Socio-Economic Outiook 201G {Government of
Telangana} lS

.Jé)@@ el
‘Beorrn Jrhr2d \;egé wi&o 2016
(Pedego) [Lsedo 2014-15 < Jod cod ?

(1) 10.05% (27 5.62%

(3) 15.76% (4) 12.67%

in Telangana, the Krishna river basin passes
through the following districts :

(1) Karimnagar, Nalgonda & Hyderabad

(2) Warangal, Mahabubnagar & Hyderabad

(3) Mahabubnagar, Nalgonda & Hyderabad

(4} Khammam, Adilabad & Naigonda
Boomnd® 808 ¢S J dure hose Ky B0
DorE (Frodo 08 7

(1) 86056, v 0%, WwEo e d

(2) HBole, wireared B0, wdorerd

(3) DirardSnb, d<Tod, wdorerd

(4) o, s&orerd, LMl

Which one of the foliowinz
state has the highest¢r c,_Jp 15 i
{1) Nizamabad i

(3). Mah‘abeﬁaaa

(Scorme

districts in Te1angana
Ttensity 3

imnagar

808 =8¢ Beorndl Io2CT Lose
Fode wEeBsonT Gob
(1) Qerswrerd i2r Eoowtb
(3) Slrardbnd {41 :i::;-*oé
Series-CD '
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111.

112.

of the main 3spect of

According 1o the AP { -ﬁbr:’-dna prea} Terancy &

uiturai Lands Act, 1550, all rights of a
dienant are
subject to review (2 reserved

heritable {4} not heritable
SOGRET (Buonme (odo) PesarB, Hgddead
1950 (Lsrdo 8%m Totd Tend
W) HEn o JH0§ iuqf_\?dn !

L0082 b ©ERLD

sheiwe _;éac

(2 umud Tahadha
(37 Cylang ardped woid
(&)
L g beny rEoeH Wody)
[+]
g @G0 Vs Mo, 971, Revenue Department, dt
07-10-1469, the Governmernt of A.P. had

originalty prohibited assignment of government
land to non-tribals in

{1; non-scheduled areas (2)  hilly areas-

{3} reserved forests  (4) scheduled areas
2.8.00.J0, 80, 971, 03wy &FEDos, ab

7-10-1969 <° wogwds Debdto roere®
(Pebég  abrawei Abaddthed Ser woBaErly,
uad 303)65“313?».@0{365 ?

{1) w§§s"b {roeres (2) VS (@Droeren

(3} 8236)55 eobDyeD (4) Mrgg@‘oe“w
The total budget expenditure of Telangana state
for the year 2015-16 (B.E} is :

2015-16 Dondyo A8 8vomrm oy (Pebégo &5
w&o agéfﬁbsobo 208 ¢ odwodd wodar (aédf
@odTren) S0ob ?

(1) ¥ 1,25,686 crores/S*w  (2) T 1,15,089 crores/S'ep
(3) T 1,10,689 crores/S*¢w  (4) T 1,05,689 crores/S'¢w
The Vashishta Bhargava Committee was
appointed in 1969 to examine the budgetary
surpluses utilization for Telangana development
during the period between -

1969 & Ladlobudi HIY 0 L8 J stely
[H O etanta ﬁ@bc}z £ 8% 2.92‘.@)6 DHes GRAD)

iT o, -
LeREcTel ?

{1} 1-11-1954 fo 31-3-1969
(2} 1-11-1956 to 31-3-1969
(3) 1-11-19551t031-3-1865
(4} 1-11-1956 to 31-3-1968

203



114,

115.

116.

203

3)

{"}

i1 szlﬂ (2] Déred
(3] mIoced (4} =awoors

The first committee set up after independence in
India to suggest land reforms was :

(1)
{2)
(3)
(4) J.C. Kumarappa Committee

wdE  reSoErgaoddo 0, S el
S B Fi, & A0 Dot ?

Bandopadhyaya Committee
Morariji Desal Committee
P .C. Joshi Committee

YD ol
i ac.x”?’:ﬁ“ﬂ;“su 5 8 (2)

&' S (4)

g =L a8
Bm:r"g Daron 3004

(31 w2 8.0, &lorSiyy §28

The two categories of tenants that existed in
Telangana region as per the Land Committee
Report 2006 of A.P. were :

(1)
(2)
{3)
(4) Inamdari & protected tenants

so|EE% or g8 Vowofo) gD D36,
2006 {Ls*do dwontm (Frodod” & Bokb Sste
Fead &S ?

(1) Dot erfofdrd WrdiPd B39od
Fearlh, eede e d

Iordes, §38 Feod

5579, 688 Sead

acr oo, 888 Fwod

Share croppers and ordinary tenants
Ordinary & protected tenants
Oral & protected tenants

(2)

(4)

Unregistered plain paper documents of leases
taken by non-tribals from tribals is referred as:
(1) Sale Deed (2) Sada Binami

{3) Sada Bainamas {4) Stamp Paper
Abeve Lo AdedShe B0 520

S o ;539:6?\3 TS wmowrd ?

(1) oipshgo (2) o Do
3} o voavarwres  (4) 52*’051‘5363

=13 wnbw

L.

119,

120.

19

(a)

Hyderabad SHiate

Tri ba‘. panchayats (2 Tribal Commission
m.i?_tees 4y Tribal communities
el Jabadd Nowd

p\l

Tribal corm

scammendastion of the Koneru Ranga
"r""O{a the‘ maximum land

2 acres of wel land & 3 acres of dry land

(1)

(2} 4 acres of wet fand & 6 acres of dry land

{3} 1acreofwetland & Zacres of dry land
{4} 2acresoi witland & 2 acres of dry land
S Somoriy ?jj"u sopd, 2006 UBGS @wsvdo
28 DgEs Siropoidhodl wdghs o Do

HE% LODED 60O 7

{1} 2 D¥ore 88, 3 JSure Diy, s
(2) 4 dgore £6, 6 ove DIy Wrid
(3)
(4)

2. oEdo 8, 2 28
2 DEoce 80, 2 J8ure By, ehrad

ore Biy e

As per the Hyderabad Tenancy & Agricultural
Land Act, 1950, the maximum rent of a tenant in
Telangana on dry land of chalka soil was fixed 3t
{1} 4 times the land revenue
(2) 5 timesthe land revenue
(3} 2 times the fand revenue

3 [m]eb the land revenue

oot it & %uéu
ruoruios sbodes
resorabred Sododes

ruorobels mrdoden

Series-CD



123,
{2)
4]
Answer 3 questions from 122 to 124 on the
basis of the data given in the foliowing table :
Table . Operational Land Haoldings {in %) in
Telangana Districts
District | Marginal{Small] Semi- iMedium Large
nsodinm '
Adilabad 498 |27.7| 175 | 46 | 04
‘|Nizamabad | 675 |238] 73 1.3 0:1
Medak 679 |217| 7.8 23 {03
Warangal 67.1 21.4 8.7 2.5 0.3
DPES 206 derodo werdom 122 wod 124
DEH He 3 A zza*waiwg.
gL B Beome 2 St efrshere Dbores
(ered’)
Ser T~ D9 | gy | NG
Sy [Frew (B Far |Fraw
sborers | 498 |[27.71 175 46 | 0.4
Jerarerd | 675 (238 73 13 |01
DSE 679 (217 78 23 0.3
Do 67.1 {214 87 25 103
Series-CD
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12z,

123.

124.

125,

et v

oo of the foliowing

per the taia ﬁprl

B Te e Lt ":“;j ]
- H 5

eiye wégo:}oﬁa G i)

(4w l;"\.u B (8 wdiL o G

1are of medium
noldings as per

Which of the districts has tie higi
holdings and lowest share of marg
the data provided in the apove tahla

{1) Nizamabad 2y Adila
(3) Warangai .,'4 fedak )
a)dﬁé E'w'\m Serode wseoe O 2eed” ‘SD)C)S

3"0:: rares wr,baé gedr ety SOR Sy 7 ?
vl a"@m@aw) fherey q,‘wco ardrd 2O/

‘@aﬁlm} 7
(1) Serdveerd {2} whueerd
(3) SBore (4} D&E

From the above table, which district has the lowest

semi-medium, medium and farge farm holdings ?

(1) Nizamabad (2}  warangal

(3) Adilabad {4) Medak

DYES® =dyd derodo @Dsedo D 2erd’ ¥

%), WS Frow, WS hrsherw odgey
) P (=]

e SO Gamyow ?

(1) Qerdyrerd (2) HBodd

(3) wbhwrerd (4) sk

Which of the following reasons causing suicides
of farmers in Telangana are correct ?

a. failure of borewells

b. fluctuations of yields in cotton crop

¢.  Rise in cost of production

d. Rise of rice as a major food crop

deorrnd’ Seddaocite wdrdied 08

8 I WG stEmres

2. Fod oryes JDwo wddo
b, 08 Vod adBS" wribndiber D8 ddo
- —-= Ly 3]

c. am;)g :aéofzo REREO
d. [Reo0 e Dok Hb wKEo

(1} c,d&a (2) d.a&b
{3} ab&ec (4) b, c&d”

203
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127.

128.

128.

130.

102080% B0 T°4HO .Q ) Fpowod ?
e -1

drardnis

The rafio of gross irrigated area to net irrigated
arpg is referred to as:

(1) hirigationintensity (2}
(3) Irrigation efflcrenCy [4}

Cropping intensity
Irrigation ratio
RSISORN D% wod a.JnJ\ 2Rgeu8, J8dure

x_naw Jzotrd ?

Lobe O Otme:v

‘u T

‘.ﬁﬁs 3 ﬁaoé)é‘xal
{“l (_,:5\{)) 5\40 e OL&'&/ {2;
(3] gl D6 rdaged (4) gy 8 T

which of the following districts has highest out-
turn of total cereals & millets in Telangana ragion
in 2013-14 7

{1} Rarimnagar (2) warangal
{2} Ni?amabad ' {4} Mahabubnagar
7013-14 &° Buonrs t_#oéoo NITARN e.,e,w.

Eypa QPG GEn8, DT G @ég&béun“ &Gob ?
(1) Zbodnd (2) oS

(3) Derirard (4) bodrarSdis
Which of the following non-food crops that have
grown faster in the past two decades in Telangana ?
a. Turmeric b. Cotion

¢.  Sugar Cane d. Maize
K& Bolo STYY e 08’ Beomed® 808

a8St D ea‘ééd Doben vdomr/Iibodorr
é‘.\o&oéagﬂo»?

a. DY) b. &

c.  BEH d.  wEEV

(1) a&b (2) c&d {(3) a&c (4) b&d
Telangana state ranks among the

states in India that witnessed farmers suicides in
the year 2014, as per National Crime Records
Bureau.

(1) Third (2) Fourth

{3} First {4) Second

o) I8 LRechd w‘°§6€ Ws~8o 2014 <t
58850 Trarged” Sgrabary wdHirdzes

(1) fwrds “*';oo (2) a‘cﬁaégﬂ}’ao
(3) 5»655%@:‘00 (4) Boé‘b‘g"oo ‘

21

133.

134.

ST

iz

Yy

(43

which of the following distnos Eha ownst
consumption of  fertiizers  per niis

Telangasna state ?
(1 Warangal i

(2 Karimnea

AEROW
=
&ob
(1) Loodd {2)
(3] talorstate) {d)

The ratio of gross cropped area to net cropped
areais referred to as

(1) Cropping intensity (2)
(3} Agriculture intensity (4]

Crop riti

irrigationr rabio

JEHES) o DRgRd, ey Q88
DMgrd & cﬂn i bd&@u aizotrd T (Lo

323:’0 o quo**}i)l, Dovieo IVh DES IYo&
A B Q& A8 ) '
(1) Doou doss

{3) o:-eouﬂoﬁ iPOLdé (4)

(2) 2o aa‘m}b

atet) wg “-"\ijJ :::EL}D‘:%
Which of the following districts has the largest
forest area in Telangana State as per 'Socio-
Economic Qutlook 2016" ([Goverrmem of
Telangana) in 2015-16 °

(1Y Mahabubnagar 2%
(3} Adilabad (4)
ROty o »

Karimnanass

Kitamimiai

ja M\)C-u e Tu
L £

§50o‘>1 15

(3) wlererd (ay o -

Series-00



135,

1i36.

137.

138.

which of the foliowing districes has the highest

of Biogas plants inst

o
m
jal

(L, Rhamimam v Nizamabad
{31 Karimnagar ‘4)  Adilabad
Zul3-14 & Svomre @rodol” edhE Jopgd®

Which of the foliowing districts in Telangana
state has the highest number of industries ?

{1y Medak {2}
(3} Hyderabad (4}~

Nalgonda

Rangareddy

Bromm olposty 8o O 2Rerdt wdedE:
20 I3} .

Lot fudy ?
Bl
(3) wdorers

(2)

{4} Gunk%

(1)

v
e ol

Which of the following districts contributes the
lowest percentage of service sector to the GSDP
of Telangana region in 2013-2014 at current
prices (FRE) ?

(1) Nizamabad (2}
(3) (4)
(B8 ot 2013-14 &F
o'y wre (Do8arEN8ST Lar Soily seee

Adilabad

Nalgonda Khammam

duome (Frodod’®

wdgenom 808 oSS D 2ard® wod ?

(1) debwrers (2) w8erard
(3) Do (4) @0

In which of the following districts of Telangana
state, National Investment & Manufacturing
Zone {NIMZ) as approved by Govt. of India is set
up ?

(1) (2} Medak

(3) Mahabubnagar {4) Rangareddy

808 8S°R D Buomrm 2ueSt e Bab Vs,
Sofrd (drtwgdrs¥yBoh) &% (NIMZ) & 2rds
(2bdzo domyen Svos ?

Nalgonda

(1) d¢ o0& (2) DsE
(3} drarSSXE (4) 60m6§

!

Series-CD
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139,

140.

141,

142.

Which of the following is not part of industrial
Corridor's Development Phase-lin Telangana state ?
(1) Hyderabad Nagpur Industrial Corridor
(2} Hyderabad Bangaluru industrial Corridor
{3} Hyderabad Nalgonda Industriai Corridor
{(4) Hyderabad Warangal industrial Corridor
gvomrm ol FOTDE 570608 wHN)E
2B LES BOE 08 O 57065 ariio 56 ?

{17 e rwn s sm £
™5 LI e
{1} &{-Jk,'i ENE o

(2) wdorard
(3) W&o
(4) wdorend -

Two-third coal mines in Singareni Collieries in
2014 were operated by

(1) Deep shaft mining (2} Tracking process

(3} Open cast mining (4) Underground mining
2014 &° 201863 57D g’ dwrdod Bod Hodhe
T Kves Jer i)ds&‘)"oa’m?m ?

(1) w‘“‘gfo FrBoily e Lé?’ogéo

(2) (&r8oh H8ad

(3) a0 (open cast) five Lébss‘o

(@ _
‘The Annual Survey of Industries’, the principal
source of statistics in India and in the states as
well, related to :

(1} informal manufacturing

(2) Organised industrial sector

(3) Organised manufacturing

@oétﬂgﬁ {underground) e Léfoséo

(4) Unorganised manufacturing
T ESEF08, Tl Lozobon, el

Herosed sE Dt o288 Joyms L3s 808
o8S® 328 LowoboDd U
(1) J8Ro s°R Sabrd Soro
(2) ‘éagbfgﬁgé FO@DE Soiio
(3) éséfg§éé dap8 Soio

(4) @fogéﬁ@;égé satrd Soio

“c-‘cﬁé'.g 2008 ?

203



145,

146.

147.

203

S sy Bares

: rial sector in
serent prices for

&)’EJL%":;D*_-{, Sod wrde Lod ]
(1) 35% {2} 7% {3t 25% (4) 28%

of consumers that consume

highest share of electrical power in Telongana state s :

{1} {HT & \T) Commercial

(2} Domestic category

(3} Agriculture

(4} Industry

deomrm orgoc® wdsd Scg5380 ScFAoT
9

The largest category

wd E Z2abed Hdo hla

(1) srefasgo (r. & & 2.8 )

(2} i Boso

(3) Jghdcdo

(4) @3

Which of the following districts has the highest

Naticnal highways roads length in kilometres in
Telangana regon in 2

e .
ch&wéu.‘ Gamyon 7

(1) L8od (2] wsaorerd
(31 dwdrameedinio 4 LCod
=

146.

150.

CiFB a;:li‘f,-".i‘s"'@ﬁlﬁ: { } a & ¢ only/ /i 8

{33 onl*,r,’iﬁ"L_e. (4)

Consider the following statements :

4. Many ferro-alloy metals are available in India
in abundance

h. Exceot manganese and chromate, no other
ferro 2oy metals are availabie ir abundance
in India ’

<. Copper is a high corrosion resistant metal

d. No ferrc-alioys are available in abundance in India.

Which of the above statements are correct :

g8 orpwgein Sdodod

a & d only/o &b

2 wdddiod® O B wordd e

::\.a‘:-ll |j ¢ ', Jam
B, oD, 'S éo.D add & - wosod
S e deﬁé‘r“wu

o orh wdd HBoLIadd “’siﬁo

o w80 dER).

d. 3830’ PE° - wural S w0,
w :ﬂ*geugoo D VG ?
e L.

(1) b&conly/m@d, (2) a&donly/r@d
3) a&bonly&r@D (4) c&donly/flmdd

Which of the following are important aspects of
human development ?

a. Large families, social status

b.  Equity, empowerment

c Migration, entertainment

d.  Pioductivity, sustainability

J.u‘i“& “2"‘_.;3_». Lowobon 808 oot
»jl <o agemeas DD
A SRS A L b S T
L
a Hewurros, Svrald o
=
ol e, S ded
o, ST
d. aa~d8d s
ol [=] .
{1} b&donly/agad (2) ake oniy,"‘bwé&
(3] b&conly/drED (4) 2 &donly/am@d
Series-CD
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10.

11

12.

Please get the signature of the Invigilator
affixed in the space provided in the Answer
Sheet. An Answer Sheet without the
signature of the Invigilator is liable for
invalidation. Candidate should sign in the
space provided on the OMR Answer Sheet,

Rough work should be dene only in the
space provided for that purpose in the
Question Paper Booklet. Nu loose sheet of
paper will be allowed into the Examination
hali.

Do net mark answer choices on the Question
Booklet. Violation of this will
seriously.

be viewed

in case of any discrepancy detween English | -

and Tetugu Versions of the guestions, English

Version of the question shail be treated as

final.

Use of Calculators, Mathematical Tabtles, Log
Books, Pagers, Celi Phones or any other
electronic gadgets is stricily grohibited.

14.

15.

16.

i7.

18

provided in

rrrrr

ARSwer Shasl ML S ; -
\\!(I."h.l!e i
against

ensuring the Bip-data provad

his/her name is ¢

Mo candidate should leave e axamination
hall until completion of examinglion time.
Before leaving the examination nail, the |
candidate should handover ihg original
OMR Answer Sheet (top sheet) fo the
Invigilator and carry the bottom sheet of
OMR (duplicate) far his/her record, failing
which action will be taken for malpractice.
Candidates are permitted to taike away the
Question Paper with them affer completion
of the exam. _ '

The script will not be valued if the
candidate

Writes the Hail Ticket Mo. in any other
place of OMR sheet, except in the
space provided for the purpgse.
Writes irrelevant matier, including the
religious symbols, words, prayers or
any communication whatsoever, in any
place of the OMR Answer Sheet,
Uses other than Blue/Black Balt Point
Pen to darken the circles.

Forgetting to bubble the Test Booklet
series or bubbling the other Test
Bookiet Series code than supplied to
him/her.

Bubbling the cirdes incompletely or
using »~ or X in the circles.

(v)

Using of whitener on the Answer
Sheet.

Hf attempts any type of tampering
{rubbing the circles with chalk powder/
scratching the circles with razors etc.)
on the OMR Answer Sheet.-

{viii} Adopts any method of malpractice.

{vi}

{vii)

No correspondence will be entertained in
this matter by the Commission, if the Answer
Sheet of the candidate is invalidated/
rejected due to the above reasons.
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